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. Which of the following Indian state has

Paper-1 |

Whlch of the following statements is’

true regardmg Laterite soil in India ? ?

1. Laterite soil develops in areas

with high temperature and heavy -

rainfall.

' 9. Laterite soil is rich in humus and '

foynd in West Bengal, Assam
“and Odisha. -
(A)- Only 1 is true.
(B) " Only 2 is true.
(C)'v‘ 'Bot\h 1 and 2 are true.
(D) ; Bdth 1 and 2 are falsé.

Which one of the following sector has
greater consumption share of water in
India?
| 7(A) B Industrial Sector

(B) Agricultural Sector
(C) Domestic Sector

(D) Mining Sector

recorded negative population growth

baccording to 2011 Indian population

census ?

(A) Kerala
(B) Nagaland
(C) Goa

(D) Haryana

DD e e e s e o T e TR o i
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| (A) Article

~ As per 2011 Indian population census,
“which of ‘the following states has

largest number of towns in India ?

(A) Maharashtra

(B) Madhya Pradesh
(C) Uttar Pradesh
(D) Gujarat

Which of the following is not correctly

matched ?

No person who is

22.1 - .arrested shall be in
custody . without
being informed, as
soon as may Be, of

the ground for such -

arrest. '
(B) Article - Right to be defended
22:1 — byalegal practitioner

of her or his choice.
(C) Atrticle
- 22.4 - preventive detention

No law providing for

shall authorise the
detention for a period
longer than three
months.
(D) Atrticle
222 - law prescribe the

Parliament may by

circumstances under
which a person may
be detained for a
‘period longer than
three months.

Series-A
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Which of the following article is related
to the representation of Anglo-Indian
community in the legislative

assemblies of the states ?
(A) Article —333
(B) Article —334
(C) Article —332
(D) Article —335

. Who said “judicial activism’ should not
become ‘judicial adxfenturism’ ?

(A) Justice Déepak Mishra

(B) Justice P.N. Bhagavati

(C) Justice A.S. Anand

(D) Justice Ranjan Gogoi

Which of the following case is related

to zammdan system ? '

1. Kameshwar Singh v/s State of
" Bihar

2. Ramesh Thaper v/s State of

Madras

3. Motilal v/s State of Uttar Pradesh

4. State of West Bengal v/s Subédh‘
" -Gopal

(A) land2

B) 1,2and3

(C) 2and4

D) 1,2,3and4

Paper-I
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9.  Union Public Service Commission may
agree to serve the needs of the state

(A)

(B)

©

D)

On request of the Governor with

- approval of the President.

On request of the Chief Minister
with approval of ‘the Prime
Minister.

On request of the Election
Commission with approval of the
President.

On request of the Governor with
approval of the Prime Minister.

10. What is true for Plamiing in India ?

1.

(A)
(B)
©
D)
-Series-A

AN

. Subhash

In Aﬁgust 1937, the Congress
Working Committee at its meetiﬁg
in Wardha adopted a resolution of
national reconstruction and social
planning. |

Subhash Chandra Bose, in his
presidential speech at Haripura
declared that the national state on

the advice - of  planning
commission would adopt a
comprehensive scheme.

Modi Government renamed

‘Planning Commission’ as “Niti
Aayog’. -

Chandra.  Bose
announced the formation of a
National Planning Committee
with Jawaharlal Nehru as
Chairman in 1938, |
1 and 3 are true.

3 and 2 are true.

Only 3 is true.

All are true.

10.

©
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11.

Who is the author of the book :

Democracy and Development in India

' from_Socialism to Pro-Business ?

(A) Partha Chattérjee

(B) Atul Kohli
(C) Vishwanath Mishra

(D) Myron Weiner

12. Which one is not true for good

13.

(A)

governance ?

Participation and Rule of law
(B) Transparency and Respénsiveness
©)

Equity and Inclusiveness

(D) Religiosity and Emotionality

A person shall not be disqualified for
being chosen as a member of a

municipality

(A) Atthe age of 18 years
(B) At the age of 20 years
(C) Atthe age of 21 years

(D) Atthe age of 19 years

Paper-I1
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14.

15.

16.

(A)

- (©
(D)

(B)

©

Who has been authorised to constitute -

Finance Commission to review
financial position of Panchayat ?

The President of India

(B)

The Governor of a State
The Chief Minister of a State

The Speaker of a legislative

assembly j'

In the Indian Fiscal federal system,
resources are allocated from the centre
to the states, which of the following is
not a means of resource allocation at
preéént ? "

(A) Tax sharing
Grant-in-aid
©

(D)

Centrally sponsored schemes

under Gadgil formula

Under constitutional provision of tax

assignment in India, which of the

foll'owihg is a tax exclusively imposed

~ and collectéd by the states ?

(A) GST

(B) Income Tax
Land Revenue
Corporation Tax

D)

Series-A
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17.

18.

19.

In India’s Union Budget, Fiscal deficit

means 7

(A) Sum of monetized deficit and
budgetary deficit |

(B) Net

Government’s borrowing from
the Reserve Bank of India.

(C) Difference

expenditure and current revenue.

1ncrease in

between  current
(D) The ‘difference ‘between total
" revenue and total expenditure of

the government.

Second Five Year Plan of India was -

based on an economic model developed
by |

(A) Dadabhai Naoroji

(B) P.C. Mahalanobis

(C). Amartya Sen

(D) C.H. Hanumantha Rao

Which of the following is the correct

order in which the mentioned measures
of development were intfoduced ?
(A) HDI
Index), Per-capita Income, PQLI
(Physical Quantity of Life Index)
®B) Per-capita Incoine, HDI, PQLI
(C) PQLIL HDI, i’er-capita Income
(D) Per-capita Income, PQLI, HDI

(Human = Development

Paper-l
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20.. InIndia, headline inflation is based on

21.

(C) Consumer Food

(A) Wholesale Price Iﬁ_dex (WPI)

(B) Consumer Price Indgx-Combined ‘

 (CPLC)

Price Index

(CFPI)

(D) Consumer Price Index — Rural

NITI Aayog has ngeloped a composite

index for each state / UT, which

- aggregates progress towards each

Sustainable Development Goal (SDG),

and classifies states in achievers, front-

runners, performers and asplrants On

- the basis of this composite index which

of the following state is not a Front-

Runner?
(A) Himachal Pradesh

(B) Kerala

(C) Tamil Nadu

(D) Gujarat

Series-A
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22.

- 23.

Paper-I

(A)

Under Government of India’s National
Air Quality Monitoring Programme
(NAMP) covering 3 172‘cities / towns in
29 States and 6 Union Territories of the
country, which of .t'he following

.combinatibn has been identified for

regular monitoring at all the locations ?
(A) Sulphur Dioxide (SOZ), Nitrogen
(NO,),
Particulate Matter (PM,,)" and

Dioxide

Finé Particulate Matter PM, )
(B) Sulphur Dioxide (SO,), Nitrogén
Dioxide (NO,),  Carbon
Monoiide (CO), and Suspended
Particulate Matter (PM1 0) v

(€) CO,NO,,PM,, and PM,

D)
(OF,) and PM,

Which one of the following body is not

associated to  Bretton -~ Woods

institutions ?

(IMF)
(B) World Bank
©)

(D)

United Nations

},World Trade
(WTO)

Organisation

Suspended

CO, NO,, Oxygen .Difluoride

International Monetary Fund

L resaon i oS k. W ASAD AET0 TIAAHE WIOMS WRS. L S . AR S W,
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o

24.

28.

26.

If the rupees per US Dollar exchange
rate changes from ¥ 60 to ¥ 65 in a time

perbio’d by the market forces, it implies

| (A) Depreciation 6f Rupee

(B) -Devaluation of Rupee
© Appreciation of Rupee

(D) No éhange in exchange rate

Chromosomal theory of inheritance

was given by,

(A) Muller

(B) Waldeiyer

(C) Mendel

I(D) Sutton and Boveri

Higgs Boson are also known as,
(A) dod Parti?:les

(B) Electron

(C) Proton .

(D) Neutrons

Series-A
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27.

28.

29.

30.

Light Emitting Diode (LED) work on
principle of

(A) Electroluminiescence

(B) Laser

©) 'Thermi'onic emission

(D) Photoelectric code

'Which one is not an example of

electromagnetic wave ?
(A) Supersonic waves
(B)
©

y-rays
X-rays

(D) Ultraviolet rays

The speedvof light in air dependé on,
(A)
(B)
©
D)

Temperature

Pressure

Densify |
It is independent of pressure,

temperature and density

Which is not an insect ?
(A) Moscjuito‘

(B) Spider -

(C) House fly

(D) Bedbug

Paper-1
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| 30.

©
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31. The basic ﬁnit of quantum information
is, - '
A) | QUBIT
(B) BIT
(C) BYTE .
(D) GIGABIT

32. Cloud computing services does not
| include, ’
(A) Infrastructure as a servicé
(B) Platform as a service
(C) Software as a service

(D). Allotment of electromagnetic
© spectrum ' o

33. The form of information signal used in

sending fax and email is,
(A) Analog signal
| (B) Digital signal
(C) Analog and Digital signal both

(D) None of Analog and Digital signal |

'34. Nitrogen is taken by plants in the form
of '

(A) Chloride

(B) Oxide

(C) Nitrate

(D) Nitric acid
Series-A
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31.
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35,

36.

The deadly disease of groundnut is
(A)
(ﬁ) Dampmg off

Tikka '

(C) Powdery mﬂdew
®)

None of these

Maize — Potato — Sugarcane (ratoon) —

.- Moong is the example of crop rotation

37

- 38.

(A)
- (B) 2years

@
- (B) Triticum aestivum

for -

1 year

© 3 _yearS
(D)

4-’y§ar§

The botanical name of macroni wheat

is:

Triticum dicoccum

© ;T rit riéum monococcum

Triticum durum

First herbicide produced in the world is :
(A) 2, ;'4 D

'_(B) 2 4,5

(C) Pendlmethahn

‘ (D) Se;gazin

Paperd -
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) 35.

36.

| 37.

38.

(A)

Mwmmﬁmﬂn%
@) R |
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1 affa
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39.

-40.

41.

42.

)

Which of the following mango variety
is méstly e’xpérted from India ?

(A)
(B)
© 'Chausé

A]phdnso :
Langra

Gaurjeet

(A) Kukra
(B) . Atavi

(©) Aranya-
| (©) Vananchal

The British entered into Jharkhand for

the first time from the side of )
(A) Palamu
(B) Singhbhum

- (C) Pakur
(D) Chatra

Who was the leadér of Bhumij Revolt ?
(A) Ganga Narain

(B) Bhagirath

(C) ' Dubia Gosain

(D) Jatra Bhagat

 Serles-A

" In the times of Mughals the region of

- Jharkhand was known as

[ E ’
Y e e e e R
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43.

45,

46.

Paper-I

The habitat of ___tribeis known as

‘Tanda’.

(A) Karmali

(B) Birhor

(C) Munda

(D) Mal Pahadia

Widow — remarriage in __
called ‘Maiyari’.

(A) Ho

(B) \Asur

(C) Uraon

(D) Korwa

What_ does ‘Ghumkuria’ mean ?

(A) aplace of worship

(B) cemetery

(C) youth dormitory
(D) dancing place

Which of the following festivals reveals

- the economic condition of Pahari

Kharia ?

(A) Maghe

(B) Karma

(C) Phago

D) J eth-Nava—Kh}iya'
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- 47,

480

49.

50.

The caves of Palkot are located in

e ——

(A) Hazaribag
B) Ranchi

(C) Lohardaga -

(D) Gumla

Iron smelting is the traditional
occupation of tribe.

(A) Karmali

(B) Asur

(C) Birajia
(D) Korba

Which of the following places is known -

as the village of temples ?

(A) Sisai

(B) Ramjari
(C) Narasimhapur
(D) Maluti

Mount Kailash is situated in which of

the following area ?
(A) Uttarakhand
(B) Sikkim

(O Tibet

(D) Nepal

Series-A

47.

49.

50.

waﬁzaﬁg!ﬂri__ﬁ‘aﬁ@a%l
(A) EETT

(8) T

(C) wEEm

(D) TaeT

vy T ol w1

- qrafE A R |

(A) T
B) I

© fken
@) W

Pt st & el iR ®1 A

G o T AR ?

(A) g

B) T

© TRiER

©

Ao ke vt 3 & T @ e
27 o

(A) TGS

@®) fufem

©) fasm

" (D) ERIGH

Paper-I




51. World’s most ' problematic aquatic

weed is

(A) Wolffia
(B) Azolla

(C) Eichhomia
(D) Trapa

52. Which of the following combination
of Nuclear Power Plant and state is
~wrong ?
- (A) Kﬁdankulam—Tamil Nadu
(B) Kaiga — Uttar Pradesh |
(C) Kalapakkam - Karnataka
(D) Kakarapar - Gujarat |

53. Tax on sell of inherited property is
o (A) Income Tax

(B) Capital Gain Tax

(C)  Land Tax

(D) Wealth Tax

54. Which one of the following classical
dance in its present form has 1nﬂuence
of Mughal tradmon ?

- A) Bharatanatyam
(B) Kathakali
(C) Kathak
(D) Mohiniattam
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58.

56.

57.

(A

)

Wh;ch ~of the following
maximum indoor chemical pollution ?
&) |
(B)
©
(D)

causes

Room spray

Burning mosquito coil
Burning coal

Burning cooking gas

Which of the followmg is one of the ore
of iron mineral ?

Hematite

(B) Chromite
©)

(D)

Malach_ite

Bauxite

Which of the following is not a feature

of urban life ?
@
®)
©

Informal ties
Competition
Impersonal relationship

/
Loss-of humanistic value

Before 1947, 26" January was called as

)
®)
©
©)

Poorna Swaraj Day
Republic Day
Martyr’s Day
Constitution Day
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59.

60.

. 61.

- 62.

Who amongst the following is
considered as father of India’s space

programme ?

(A) A.P.J. Abdul Kalam
(B) Nambi Narayanan
(C) G.Madhavan Nair
(D) Vikram Sarabhai

Which of the following is second
largest tribe in India ? :

(A) Gond
(B) Santhal
(C) Bhil

®) Munda

Who amongst the following was
awarded ‘Rajiv Gandhi Khel Ratna
Award’ for 2019 in wrestling ?

(A) Sushil Kumar
(B) Bajrang Punia
(C) Sardara Singh
(D) Deepa Malik

When was the Universal Declaration of

Human Rights adopted by the United
Nations ?

(A) 10 December, 1948
(B) 10 January, 1920
(C) 4 April, 1949

(D) 24 October, 1945
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63. British Prime _Minister 'Winston

64.

65.

66.

©

Churchill received Nobel Prize for
A)
B)

Peace
Physics
Literature
D)

Economics

Among the following states, Which has
highest forest density in India ?

(A)
®)
©
D)

Guj arat
Négaland
Mizoram

Assam

Ro-Ro ‘ferry started by Prime Minister

of India connects which two places ?
(A) Ghoga and Dahej

(B)
©
D)

Bhavnagar and Ghoga
Bhavnagar and Dahe;j
Somnath and Dwarka

Which of the following is post disaster

measure ?’
(A)
®)
©
®)

Early warning
Zoning
Reconstruction

Planning and Policies-

. Series-A

21

63.

65.

- 66.

'gwwﬁmm
(A) iifar % ferg

fafew wumEht fommer wfie

Y dme
(B) W fasm & fag

(C) wfde & forg
(D) e & fore

frafafgs Ta F TR A A I AT

waiftrs sresea § 7

(A) T |

(B) ATV

€) fem

(D) @

e 35 ST g g 3 3
o6 <) vl bl Sieet 2 7

(A) = SRR

(B)  WTETR 3R &
(C) W& 3R qRA
(D) [Ty 3 g

fAitaN M AR S TR HFITER ?
(A) e |
(B) &t

(C) iAo

(D) o IR Aot
'Pa:per-I |




67. On which day the design of the
National flag of India was adopted ?

(A) January 26, 1947
(B) June 10, 1947
(©) July 22,1947
(D) August 15, 1947

68. Who is the current chairman of the

National Human Rights Commission of
India ? .
(A) Justice A.S. Anand
(B) Justice S. Rajendra Babu
" (C) Justice H.L. Dattu
(D) . Justice K. Balakrishnan
was

69. When

Management Authority formed ?
(A) 2005
(B) 2006
(C) . 2008
(D) 2011

National

70.
India ?
(A) 1911
(B) 1915
(©) 1921
(D) 1926

P‘ape‘xzﬁl

~ Disaster -

When was air transport started in

67.

68.

69.

A

| (D)

AT T & WY @ R e
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(B) I 10, 1947
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(D) 37T 15, 1947

ST & g AR STV S
FEF TR ? |
(A) =l T Ow. AR

(B) =RMfd IR A

(C) —amfd To.4e. &

(D) AR %. AP

TP SATIET W& TR0 T 137
B3I 7 |
2005 | F
(B) 2006 | |
©

D)

2008
2011 '

I H 1Y Iiae e WO g 7
(A)
®)
©

1911
1915
1921
1926

Series-A



n.

72,

73.

74.

75.

“Where does Toda tribe malnly lives ?

(A) Assam

(B) Jammu and Kashmir

(C) Tamil Nadu
(D) Rajasthan

What is the minimum land area
recommended for forest cover to
maintain proper ecological balance in
(A) 25%

- (B) 27%

(C) 30%
D) 3%

Which state has the highest pote'ntiél.

for the development of:solar energy ?
(A) Rajasthan |
(B) Madhya Pradesh .

(C) Jharkhand

(D) Uttar Pradesh

Which of the following- atomic péwer'

plants has 'largest installed capacity ? -

- (A) Tarapur

(B) Kakrapar
(C) Kaiga

(D) Narora

Which is the largest tribe in India ?
(A) Bhil
(B) Santhal

(C) Gond

(D) Kol

SérieeA
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76.

7.

78.

‘Which state has maximum road density ?

(A) Punjsb -
(B)
©

D)

Haryana
Kerala

Gujarat

Where is Indian Grasslaind and Fodder
Research Institute located ?

@
®)

J alpur
Ko -
Thansi
Lucknow

_ ‘S', e

Which: is ‘the largest natural | port in

India ?

(A Mumbai
(® Cochin

79.

(C) Chennai
(D) Tuticorin

Whlch Indian ' language, is spoken
maxrmum in the world after Hindi ?

(A) Telugu

~(B) Tamil

(C) Bengali
(D) Malayalam

Paper-I.
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S T T e

80.

81.

- 82,

Ashokan inscriptions in north-western
part of the Mauryan Empire near

Peshawar were in :
(A) Kharoshthi Script
(B) Brahmi Script
(C) Aramaic Script

(D) : Devanagari Seript -

Charvaka philosophical system was

also called :

(A) Vaisesika system
(B) Lokayaté. System
(C) Astika system

(D) Mimansa system

Arrange the following in éhondldéical

order :

a. Satvahanas

b. - Vakatakas

c.  Chalukyas

~ Select the: comrect code from the

following :

(A) a-b-c

- (B) bca

- (C) c-ba

(D) c-a-b
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83. The foremost Indo-Roman trading

85.

 86.

statioﬁ in Eastern India was :
(A) Tamluk
(B) Rajgir

| (C) Arikamedu

(D) Bhagrapir

A historical wotjk “Gaudavaho” like

Kalhana’s “Rajatarangini” was written

by

(A) Bilhan

(B) Sandhyakaranandin
(C) Vakpati

(D) Banabhatta -

The jcoll'ecﬁon of the writings of the

Saivite saints is considered as Fifth o
‘Veda. What is the name of the above

collection ?

(A) Tirumurai

(B) Tolkapium

(C) Silapaddikaran
(D) Manimekhalai

Which among the following kingdoms

was founded by two Bfothers, Harihara
and Bukka ? |
(A) Kingdom of Kampili

(B) Kingdom of Vijayanagara

(C) Kingdom of Kakatiyas

(D) Kingdom of Hoysalas
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87.

89.

Quwwat-ul-Islam Mosque and Arhai

Din Ka Jhonpra are  situated

respectively at :
(A) Delhi and Ajmer
(B) Delhi and Lahore

(C) Ajmer and Delhi

(D) Lahore and Ajmer

Government of medieval period was a

composite structure. It was a fusion of :
(A) Perso-Arabic
(B) Turko-Mongol (Central Asian)

(C) Perso-Arabic,
(Central Asian)

Turko-Mongol

(D) Perso-Arabic, Turko-Mongbl -

Indian Elements

Who was the founder of Visistadvaita
Siddhanta ?

- (A) Madhavacharya

(B) Ramanujacharya

(C) Vallabhacharya

(D) Srikanthacharya
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90. Permanent Settlement and Ryotwari

91.

92.

System of land revenue introduced
respectively in : v |

(A) Punjab and Bengal

(B) Bengal and Madras

(C) Madras and Punjab

(D) Madras and Bengal

Arrange the following events of History

of Modern India in chronological

order :

a.  Swadeshi movement

b.  Lucknow pact

c.  Morley-Minto reforms

d.  Foundation of All India Muslim
‘League

Select the correct code from the

following : '

(A) a-c-d-b

(B) a-b-cd

(C) d-c-b-a

(D) d-a-c-b

Who have appointed First Indian

Education Commission and in which

year ? -
(A) Lord Lytton in 1880
(B) Lord Ripon in 1882

(C) Lord William Wedderburn in

1885
(D) Lord Curzon in 1905
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93..

94.

95.

96.

Which among the following introduced
the Provincial Autonomy in British
India?

(A) Government of India Act 1935
(B) Government of India Act 1919
(C) Cabinet Mission |

(D) Simon Commission

Who have introduced the printing press

in India and in which year ?

(A) ' English East India Company in
1674 |

(B) Portuguese in 1550

(C) Spanish in 1680

(D) Frenchin 1745

Which of the following stateé in India,
do not share border with Bhutan ?

(A) Arunachal Pradesh |

(B) Assam

(C) Sikkim

(D) Bihar

"In which of the following parts of India

‘Atolls’ are commonly found ?

(A) Near Rameshwaram
| (B) Near Sunderbans
+ (C) Near Khambhat Gulf

(D) Near Lakshadweep
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97.

98.

99.

100.

Indian Satellite Series ‘INSAT’ is an

examplev of :
(A)
(B)
©)
D)

Meteorological Satellite
Resource Satellite
Military Satellite

Polar orbiting Satellite

* Which of the following characteristic

feature is appropriate for Narmada
river ?

(A)
(B)
©)
D)

Glacial origin
Volcanic origin
,Wind origin
Structural origin

Which of the following coastal region
in India, receives rainfall from North
Eastern monsoon ?

(A) Konkan Coast

(B) Malabar Coast

(C) Gujarat Coast

(D)

Coromandel Coast

Which of the following statements is
true regarding earth movement ?
1. Earthrotates on its axis from west
to east resulting into seasonal
- changes. |

2. Earth revolution around sun

results into occurrence of day and
night on earth.

Only 1 is true.

Both 1 and 2 are true.

Only 2 is true.

Both 1 and 2 are false.

(A)
(B)
©
D)
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Instructions for filling/marking the OMR answer sheet / OMR IN-T ﬂﬁ % forg Frdar |
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